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Median

Advanced

Here’s how you can find the median number in a set of numbers.

 Step 1:  Place the numbers in order from least to greatest.
 Step 2:  Find the number in the middle. This number is the median.
 Step 3:  If there are two middle numbers, find the mean of the two numbers.

Find the median of these numbers:   2, 3, -6, 0, -1, 5

 Step 1:  Put the numbers in order from least to greatest.  -6, -1, 0, 2, 3, 5
 Step 2:  Find the number(s) in the middle.  -6, -1,  0, 2, 3, 5
 Step 3:  Find the mean of the middle numbers.  (0 + 2) ÷ 2 = 1

Find the medians.
Show your work and write your answer on the line.

a.   1,040,532     1,004,235     1,400,352     1,400,235

median:  _______________

median:  _______________

c.   -6.4,   -6.9,   -4.6,   -9.4,   -9.6,   -4.9,   -6.49,   -4.96     

median:  _______________

e. Four friends measured
 how tall they are.
 Their heights are listed 
 in the table below.

 Find the median height
 of the kids.

d.   1.056,   .0567,   .0576,   .5067,   .0765,   .0675

median:  _______________
median height:  
_______________
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Child Height

Amber 4′ 6″
Dion 5′ 5″
Kamala 5′ 2″
Yuri 4′ 10″
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1,004,235     1,040,532     1,400,235     1,400,352

(1,040,532 + 1,400,235) ÷ 2 = 1,220,383.5
1,220,383.5

-6.445

.072 60″ or 5′

(-6.49 + -6.4) ÷ 2 = -6.445

(.0675 + .0765) ÷ 2 = .072

-9.6,   -9.4,   -6.9,   -6.49,   -6.4,   -4.96,   -4.9,   -4.6

.0567,     .0576,     .0675,     .0765,     .5067,     1.056

4′ 6″
4′ 10″
5′ 2″
5′ 5″

or 58″
or 62″

(58″ + 62″) ÷ 2 = 60″ 
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